 1- ل(0>ص>ك)= 0.4726
مباشر من الجدول

اذن ك =1.92

2- ل(ك>ص>0)=0.2967
ك = -0.83

3- ل(- ك  >ص >0 )=0.4192

اذن ك =-1.4

4- ل(ص>ك)=0.6480

0.5+ ل(0>ص>ك)= 0.6480

اذن ل(0>ص>ك)=0,6480 – 0.5 =0 0.148
اذن ك = 0.38

5- ل (ص>ك)=0.2005

0,5 - ل(0>ص>ك)= 0.2005

اذن ل(0>ص>ك)= 0.5-0.2005=0.2995

اذن ك = - 0.84 

6- ل(ص<ك)=0.0091

0.5- ل(0>ص>ك)= 0.0091
اذن ل(0>ص>ك)=0.5-0.0091=0.4909

اذن ك = 2.36

7- ل(ص<ك)=88 0.99

0.5 + ل(0>ص>ك)= 88 0.99

اذن ل(0>ص>ك)=0.4988

اذن ك = 3.03 او 3.04

8- ل(ك>ص>1.42)=0.1171

ل(0>ص>1.42)- ل(0>ص>ك)= 0.1171

اذن ل((0>ص>ك)=0.4222-0.1171=0.3051

اذن ك = 0.86

9- ل(ك>ص>0.64)=0.6075

ل(0>ص>ك)+ل(0>ص>0.64)= 0.6075

ل(0>ص>ك)= 0.6075-0.2389=0.3686
اذن ك = 1.12
ارجو ان الاجابات تكون صح وان حضرتك تسامحنى على التاخر فى الحل

